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Step 1

Use the clues to establish
each player's count of flags
captured each game and
cumulative K/D spread in
the story logic problem.
Circle correct pairings.

Step 2

Take the digits you circled
in the story logic problem
and place them in the
squares in the sudoku grid
within the same row.

Solve the Knighted Sum
Sudoku puzzle with digits 2
through 9 using the digits
and the sum cages.

No knight has a sum given -
instead, solve the entire
puzzle, THEN find the sum
for each of the knights'
attacked cells.

Step 3

Solve the crossword clues
to find the letter/number
pairs. Some of the pairs are
given in the sudoku puzzle;
each knight has a letter to
be paired with the sum of
its attacked cells.

Errata

Fixed/clarified rules
thanks to Maree and Grant.
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K/D Spread Flag captures as...
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Halo: Reach

Da\{e and friends played a few games of St_or.kpileinHan: Reach |:| |:| |:| |:| |:| |:| |:| |:| |:|

online. In one we played as the Red Team; in the other we played M V ¢ H

as the Blue Team.
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